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Q0090090000000 0000099.</span></p> <p class="al"><strong><em><span
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Q000909 9009000 90000009 900909069 <strong>- </strong>6800-11900

9 9<strong></strong></span></p> <p class="a1"><strong><em><span

lang="UK">¢ @@€9 o </span></em></strong><span lang="UK"> €000 6606
9990090009 </span><span lang="UK">5100 - 17000 @@</span><span lang="UK">®
Q000909 9090000000000 0000000900 90090009 9 <stroNy>00009 06
V000000000000000</stroNg>(0 00 0019, 99 V000009 90 0000 000 00

9 9999)<strong>. </strong>0 0PV 90V0P000P09 9000900, 0000000000009
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9999 .</span></p> <p class="al"><span lang="UK">0 000 0000600 00 60 9000006
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</span><em><span style="color: gray; mso-ansi-language: UK;" lang="UK">(¢ ¢ ¢ 0 €9,
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09000090009000900009000000090009 9 909000909009 9009000000090 9 0009
9000000000 9000" (N 37 @ 15.01.2013 @)</span></p> <p class="a2"><span
lang="UK">0 000600 ¢ 00600 60006 9069 05.02.2013 ¢ @ N 216/22748 ¢ €009
Q99009099 90909009 99009099, 90 99000909009000090009, 900000009 001.01.2014
@</span></p> <p class="al"><span lang="UK"> </span></p> <div style="mso-element:
para-border-div; border: none; border-bottom: double windowtext 2.25pt; padding: Ocm Ocm
1.0pt Ocm;"> <p class="a"><span lang="UK">0 @000 006& &#06é/span></p> </div> <p
class="a1"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">9 @ ®eé@e</span></p> <p class="al1"><span lang="UK"> </span></p> <p
class="a1"><span lang="UK">- 00000, 60006000009

<Strong>9 0999099009909 9/strong> 09V VGP09 90 ¢ 9009 € 09 90000 0 69
D 900 9090900909090 999 9 909 9090990, 90 99 9099090 9909090, 9090009000000009
9999 <strong>09 99009900 9</strong> & 9069 00

Q009009000900 90909</span><span class="a4"><span lang="UK">(¢€ N
7786/0/51-12/15-3114 @ 28.12.2012 @)</span></span><span lang="UK">;</span></p> <p
class="a1"><span lang="UK">- 0 9¢ ®o<sirong>90 909 o</strong>, ¢0@

<Strong>9 99999 99099 </strong> 000V V0900900090900090000000006000 069
Q900909 9090900099, <StroNg>9 90V VVVV9HVV9</strong> @

9990009009 </span><span class="a4"><span lang="UK">(®e N 1280/6/18-8515 &
28.12.2013 @)</span></span><span lang="UK">;</span></p> <p class="al"><span
lang="UK">- 0000, 0000000009 90090906009<strong>90000969é/strong>, 0o
Q900909909 9900909 909 9900990099 9 90909090 999009 990099 90909009900909060
0900009000 909009 99009 99090 990909090009 90090009090 90900 9000090 90
Q09009 9 90990909 909/90090,9000900090900909 9099</span><span
class="a4"><span lang="UK">(®® N 8026/0/61-12/15-3115 & 28.12.2012
@)</span></span><span lang="UK">;</span></p> <p class="a1"><span lang="UK">-
Q0009 90009 909909<sSIIONY>0VV € 00009 9000009 9069/strong>
(00000900 90909 9009009 99009 990090990 9099009090009000909 9009 9009
99090009, 00001.01.11 & (¢ 9009 9009000, 000 00 9009099, <strONg>0 0000 ¢
Q99 9090900909 9 9 9900 900090909 99/strong>, @
090000900090000000900090000990 9000009 -0000 9000060 00001.07.120, ¢
Q009009 9 99 V009009 9 909 V0909099 </span><span class="a4"><span
lang="UK">(®® N 4967/0/51-12/15-3416 @ 15.11.2012 @)</span></span><span
lang="UK">;</span><span lang="UK"></span></p> <p class="a1"><span lang="UK">
</span></p> <p class="a3"><span lang="UK">@ @6 @9 ¥/span></p> <p class="al"><span
lang="UK"> </span></p> <p class="al1"><span lang="UK">- 9000000 ¢006000¢
99999 :</span></p> <p class="al"><span lang="UK">-- <strong>N
13-0'009(900009)</strong> "9V P00P00Q 906 9969 </span><span
class="a4"><span lang="UK">(¢ @ 6@ N 18.1-12/2 @ 23.01.2013 @)</span></span><span
lang="UK">;</span></p> <p class="al"><span lang="UK">-- <strong>N
43-9'909(09</strong>) "0 00000000009 90090090009 900909 € 000000069
V909 9090000000009 9000099" </span><span class="a4"><span
lang="UK">(@ e N 18.1-12/1 @ 23.01.2013 @)</span></span><span
lang="UK">;</span></p> <p class="al"><span lang="UK">-- <strong>N 1-@</strong>
"QVOP0000009000909(900,000) V0099 9 V9000909 9090009" </span><span
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class="a4"><span lang="UK">(©@e€® N 18/1-12/5 ¢ 28.11.2012 @)</span></span><span
lang="UK">;</span></p> <p class="al1"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">@@/span></p> <p class="al1"><span lang="UK"> </span></p> <p
class="al"><span lang="UK">- ¢ 9 00¢ 90 €090<strong>009 900900000069 06069
272 29\ 1(eJale PR R 222722 °R°2°2-2°272-2°2° % 2-2°2 %2 2°2°2-2°R"22°2°2°2-2°272 2 R K222
900000000000 906N 22-2 ¢ 08.10.2010 @ </span><span class="a4"><span
lang="UK">(® 0@ o€ & 07.02.2013 @)</span></span><span lang="UK">;</span></p> <p
class="al1"><span lang="UK"> </span></p> <p class="a3"><span lang="UK">@@/span></p>
<p class="a1"><span lang="UK"> </span></p> <p class="a1"><span lang="UK">-
Q000090009900 900009000909000 900909, 000009 9009099 <stroNg>00009

Qo 9/strong> @ 90V & 99</span><span class="a4"><span lang="UK">(0 00 ooN 2 ¢
08.01.2013 @)</span></span><span lang="UK">; </span></p> <p class="a1"><span
lang="UK"> </span></p> <p class="a3"><span lang="UK">[ @@ ®</span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="a1"><span lang="UK">-
1°2°22-2°272-2°2°2°22°2°2 23 1{e]glepR "2 -2°2 7227222 "R 22 R °2°22°2°22 R "R °2-2°2°2°2 R 272222
Q0009 9009090009090 909 900900000000009</strong> @

Q0090000090000 009</span><em><span style="color: gray; mso-ansi-language: UK;"
lang="UK">(@®éN 1948/5 & 26.12.2012 ®)</span></em><span lang="UK">;</span></p> <p
class="a1"><span lang="UK">- 9 9@ <strong>0 000 000® 000009 9060 9</strong>
Q00009 900919000 9009 9900090009 900 900000000 009

@ 99099</span><em><span style="color: gray; mso-ansi-language: UK;" lang="UK">(® ¢ &N
218/5 @ 01.02.2013 @)</span></em><span lang="UK">;</span></p> <p class="al"><span
lang="UK"> </span></p> <p class="a3"><span lang="UK">@®/span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="al1"><span lang="UK">- €06 0¢
<strong>9 99 VY@V V Ve 9</strong>:</span></p> <p class="al1"><span lang="UK">-- &
Q00909 90000000009 9</span><span style="text-transform: uppercase;
mso-ansi-language: UK; mso-fareast-language: UK;" lang="UK"> </span><span
lang="UK">® @& e é</span><em><span style="color: gray; mso-ansi-language: UK;"
lang="UK">(®©@eN 1410 @ 12.12.2012 @)</span></em><span lang="UK">;</span><span
style="text-transform: uppercase; mso-ansi-language: UK;" lang="UK"></span></p> <p
class="a1"><span lang="UK">-- </span><span lang="UK">¢ €060

0900009000 9000909000900 900009 90090900099 </span><em><span style="color: gray;
mso-ansi-language: UK;" lang="UK">(@®eN 1420 ¢ 14.12.2012 €)</span></em><span
lang="UK">;</span><span lang="UK"></span></p> <p class="al"><span lang="UK">- &
Q0009 9000000900000 90009 900009 90099</span><em><span style="color: gray;
mso-ansi-language: UK;" lang="UK">(©@@®N 1413 @ 12.12.2012 @)</span></em><span
lang="UK">;</span></p> <p class="al"><span lang="UK">- ¢ ¢0000006 060
</span><em><span style="color: gray; mso-ansi-language: UK;" lang="UK">(¢®eN 1425 &
14.12.2012 @)</span></em><span lang="UK">;</span></p> <p class="al"><span lang="UK">
</span></p> <p class="a3"><span lang="UK">@®</span></p> <p class="al"><span
lang="UK"> </span></p> <p class="al1"><span lang="UK">- 00000 €006 906006 69,
Q999 99<SIrIONY>9 V0 9P00P 9009V G9</sSIrONY> @ 900GV 00000000 00000
</span><span class="a4"><span lang="UK">(¢©¢®&eN 21 ¢ 17.01.2013
@)</span></span><span lang="UK">; </span></p> <p class="al"><span lang="UK">
</span></p> <p class="a3"><span lang="UK">® @@ @@ e é</span></p> <p class="al"><span
lang="UK"> </span></p> <p class="al1"><span lang="UK">- 9000 9060060000000
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Q00900900909 <stroNg>V 0V VOV Y 009 9HVO</strong> </span><span class="a4"><span
lang="UK">(@00006é N 65 ¢ 10.01.2013 @)</span></span><span lang="UK">;
</span></p> <p class="al"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">0 00009 900000 000009000 9$0060006009/span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="al1"><span lang="UK">- ¢ 0006 €69
@ 99099<SIroNg>9 V099909 9069 V</strong> </span><span class="a4"><span
lang="UK">(®©@N 739 @ 18.12.2012 @)</span></span><span lang="UK">;</span></p> <p
class="al1"><span lang="UK"> </span></p> <p class="a3"><span lang="UK">@@/span></p>
<p class="al1"><span lang="UK"> </span></p> <p class="al1"><span lang="UK">- ¢0¢060o
<strong>9 9999 </strong> 9900000090 06009 06000
"<strong>0 900V V9V VV V9o </strong>" </span><em><span style="color: gray;
mso-ansi-language: UK;" lang="UK">(¢ @@ N 1-/2013 €@ 05.02.2013 €)</span></em><span
lang="UK">;</span></p> <p class="al"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">0 0 & 0000009000 0000909 6000600006009/span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="al1"><span lang="UK">- €06

99 9</span><span lang="UK">0 000 900000 009 900909000 900009
Q0000900000009 <StIroNy>0 009 @ 0609 900 9/strong>, V0000000000000
999909 </span><em><span style="color: gray; mso-ansi-language: UK;" lang="UK">(¢ @
</span></em><emx><span style="color: gray; mso-ansi-language: UK; mso-fareast-language:
UK;" lang="UK">N 223-286/0/4-13 @ 12.02.2013 @</span></em><em><span style="color:
gray; mso-ansi-language: UK;" lang="UK">)</span></em><span lang="UK">;</span><span
lang="UK"></span></p> <p class="al1"><span lang="UK">- 000000069 6609 66¢
</span><strong><span lang="UK">0 006 ¢0¢, | 0009000009 00000 00000 ¢
990009009 909/span></strong><span lang="UK"> 00000 ¢9000000¢ ¢ 906000069
Q009 009 900900 909</span><em><span style="color: gray; mso-ansi-language: UK;"
lang="UK">(®® N 24-152/0/4-13 & 28.01.2013 @)</span></em><span
lang="UK">;</span></p> <p class="al"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">0 @ &6 e ®/span></p> <p class="al"><span lang="UK"> </span></p> <p
class="al1"><span lang="UK">- 00009 990909 900009 99 90900009 9090000609
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18/12-15-1135-¢ @ 11.02.2013 @)</span></span><span lang="UK">;</span></p> <p
class="a1"><a name="RANGE!A1:C124"><span lang="UK">- 0 0¢ €006 6669
Q000090009 909<slIONY>0 V9V VOV Y/StroNg> @ VOV OGP 0609 V00006 @\ 90602012
@ 9</span></a><span lang="UK"> </span><span class="a4"><span lang="UK">(¢ @&
11.02.2013 @)</span></span><span lang="UK">;</span></p> <p class="a1"><span
lang="UK"> </span></p> <p class="a3"><span lang="UK">[ @9 &</span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="a1"><span lang="UK">-
9900009000999 <stroNg>0 099V é/strong> 00V VVVV00900009 0000069,
Q0009 900909009 900090009000 0009 900 9 V09 990009009 </span><span
class="a4"><span lang="UK">(@® N 37-32-7/2380 @ 06.02.2013 @)</span></span><span
lang="UK">;</span></p> <p class="al"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">[ @9 ®€@/span></p> <p class="a1"><span lang="UK"> </span></p> <p
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class="a1"><span lang="UK">- 00000 900000009 900009009, 9b</span><span
lang="UK">0 000600609 #69</span><span lang="UK">0 00 0é ¢ 00600069 06069
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</p> </div> <p>@</p>
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